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full marks for the questions.

Answer either in English or in Assamese.

7, L Answer as directed : (any ten) 1x10=10

o s Ses fral ¢ (R 72or)

(@) Human Resource Management is very
useful in creating work culture in an

organisation.
(State whether True or False)
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(b)

)

()

(e)

U]
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The process of human resource
planning should begin at the top level.

(State whether True or False)
R s | (9% @ S5 &)

Human beings are the key and most °
important investment and assets in.

modern organisation.
(State whether True or False)

S AT T T 25T SRR

BT (7 @5 [&30)

The common belief now-a-days is that
managers are born, not made.
(State whether True or False)

TRARCIE e <051 R @ ~1RoTe o

T 2, € owe 39 @RiF|
(&% & S1% f73))

All the employees require constant

to cope with the need of the

job. (Fill in the blank)

R QG S 219 4R #[itE arere ©F
TN G@aiE Gl el

(371 212 979 1)

Job evaluation is the technique of

the job and not the man.
-(Fill in the blank)
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TRIATVRI S o N, IS
23 | : (T 912 2f59r )

(9) The selection procedure ends with the
of a worker on the job.

| H: (Fil in the blank)
A AT S e Ly e
1 =7 | (T 312 7159 )

(h) Counselling is the discussion of an =
problem with an employee.
(Fill in the blank)

PRI (202 5019 Gormq AT
7S ST | (30T 912 =341 77

() When the c¢mployee feels that an
injustice has been done, it becomes 4

mma@ﬂw‘s@mm\a T @ (9T (s
ST 91 (202 W 2 PSR =

() complaint (Tifeteite)

(i)  dissatisfaetion (SPTefRe)
(i) grievance (sw3 WT"H%‘E:W)
(tv) punishment Qi)

(Choose ‘the Correct anéwer)

(@) Claag)
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(k)

The basic objective of industrial health
is
SRR FFH To1 Sl T
(i) prevention of disease and injury
SIRESIEAS I R SRR
(i) . medical reimbursement
e =Fhoomd
(i) cure of the diseases
e dfeia
(iv) All of the above
TARTE WGIRERE0!

(Choose the correct answer)

(@5 qIR GEred) f

A large part of compensation that
people receive from work is

RICENAY COST FI1 TS ‘ﬂ\'ﬂﬁq fewiet 2=t <t
(i) non- -monetary

el =il AR
(i) monetary

wifef R

(W) fringe benefits

ST A
(tv) None of the above
iR «Tis Tz
” ~ (Choose the correct answer)

(@bl FIR CESHl)
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(m)

The basic Job of every executive is
& SR Yo ! 5
‘(i) .planning
GiSsn)
{ii). orgénising»

ARSI

(111) decision-making :

[Eiknicgeey
(itv) coordinating
ST

(Choose the correct answer)

(&%) e @Q’Gﬁf)

The success of an organisation depends
upon the quality of selected

0! SRS Tl ST wn
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(i)  Machines (TZIS)
i) Tools (igf)

(i) Market (Wla)l

(iv) Personne] (s T=2)

(Choose the correct answer)

(S50 TR Tayeg))
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(n) In which year National Institute of 2.  Write very short answer - (any five)
Labour Management was established ? 2x5=10

%ﬂﬁ%ﬂwmm@%m <o b¥te Bex 77l 2 (R <o)
2l 2 | ~ '- b

() 1950 (baao) |
@) 1965 (Svve)

(@) What is human resdurce management ?

SN T Rl i &2

(i) 1947 (ssga) , (b) What is meant by outsourcing ?
(iv) 1975 (spa¢) % | e w1zeel S & ga e
(Choose the Forf ect answer) ; .k‘. , - (c) What do you me'an by career
(C=Col Fifz Cferssr) 4 ! development ?
(o) Social security is concerned with the ' ﬁ (R [ S @ ?

well-being of - :

e oS L : (d) What is 360 degree performance
AR 2 SR SR @ SARE T3 . Ty {
(i) the consumer »

wvo Bl ARmfel Yo i /e

i) f)eop’le ' . (e) Mention two elements of compensation.

e TR 70 SAMIN Srgd <o |
(1) the government ' ()  What is fringe benefit ?
(tv) the children . A 2

. _ (g) Mention two merits of directive

SR counselline. :
(Choose the correct answer) < i1k
(w=ehl IR Chedy) : T s 75 SR S < |
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(R) Mention two significance of labour
welfare to the society.

S SN G SRGR 75 Slesiz et

34 | '

3. Answer the follovﬁng : (any four)

: 5x4=20
woTo WMAEIRE Sex B ¢ (Remen wifesra)

(@) Explain the recent changes which are

taking place in the field of human
résource management.

(b) What are various factors responsible
- for the need of human resource
information syster ? Explain.

TFR TS 0 ey st FqS
c@wma@¢&wm%m?mw¢my

(¢) Discuss about various objectives of

human resource Planning

;ZfTﬂ“ﬁW°ﬁ%ﬁﬁwaﬁﬁ%ﬂiﬁﬁﬁnﬂquWﬁﬂ&w
=l |

4 (Sem-4/CBCS) HC 3 (HRM)/G 8

‘\"

i

(@),

(e)

(9)

(h)

What are the limitations of interview in
selection process ? Explain.

o eiferare ARFR a2l SERarRE & &2
RN B

Discuss about the importance and
needs of executive development in

human resource management.

T T ARGERS PR {EEE
TR I AREHRS] F=#E SNCED] 4 |

What are  the essentials of social
promotion policy ? Explain.

T S SRS ARG SARETTE
2 it == | ‘ |

Discuss about various external factors
influencing employee remuneration:
policy. ' i
TR Aol sivh Faase der [el
I ARy FREREE SN 54 |

Briefly discuss the welfare facilities for
~workers under the Factories Act, 1948.

FES] B, o8- QT ORI AR
Tl FRAPTIR 5 bl S |
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(@)

(b)

(c)

(d)

' AnS\;ver the following questions : (any four)
' 10x4=40
O MAEIRS Tes 574l d%wmwrmﬁﬁv

Discuss various managerial and
operative functions of human resource
management.

A T ARG ARDER TR o
TR FROTIZ SN <51 |

What is job analysis ? Describe various
techniques used for analysing the jobs.
' 2+8=10

9W€ﬁkﬁﬂﬂﬂ%ﬂf%?9%1%%N¢§0$§33N§H
WWW@WW|

Discuss various external and 1nterna1
sources of recruitment.

TGETS IR S SR @QWF{T{. S
41 |

Discuss about various traditional and
modern methods of training for
employees in an organisation.

<51 AoV FEbITI 2 fr o S
Sl ARG AmoAIZ NG < |
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() What is performance appfaisal?

(9)

(h)
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Explain the importance of performance

appraisal in human - resource
management. ; 2+8=10
N1 SR N 15 2 N ST=wi7 =151

Al JeITTe g G 5= |

What is meant by transfer ? What are.

its various kinds ? Bring out clearly the

features of a sound transfer _policy?
2+4+4=10

WiEeE T 52 TR R [ e @
7 TR SIbR Ko (R BeT 35 591 |

What is voluntary retirement scheme ?
Discuss about various 1ssues involved
in- VRS for its effectiveness. 2+8=10

CHRIT ORI SIIbH S 5 7 2 b 2we1el]
2T R iR st gz & & e

Rk

Examine various legal prOVlSlonS
recrardmo safety of workers.

ﬁﬁ@ﬁ‘&@$@i0556‘ﬂ53ﬁ€1ﬁ§@3359§ﬁﬁ
i
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(1)

0)

What is an industrial dispute ? Discuss

about various provisions of the
Industrial Disputes Act, 1947 for
settlement of industrial disputes.

TP 2+8=10

et KM w2 et Kam Feife
FAE Industrial Disputes Act, 19473
JRZIZ S 35 |

What are the basic qualities required
for a human resource manager. Discuss
about his role in modern organisation.

' 55=10

R A 2ARDER AR SRR [ e

G2 (RGO (98 AR FRA AR SHRTITE
ST - 35 |
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